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CH 6 TRIANGLES

Multiple Choice Questions
AB _BD

1. In AABC, 2= =22 /B =70°and £C =50° Then, £BAD =?
AC DC
A
B4 o) oc
{a) 30° (b) 40° (c) 50° (d) 45°
2. Inthefigure, if MN ||QR, PM =6cm, QM =8 cm and QR =28 cm, then MN is equalto |
P
6cm
M N
8cm
Q 28 cm A
{a) 20 cm () 32cem ()12 cm (d) 16 cm
3. In the given figure ZM = /N and P =&, then APQR is
MQ NR
aQ Vi R h‘.l' Lo
(a) equilateral triangle ~{b) isosceles triangle ’ -
(c) right angled triangle (d) None of these
short Answer Type (I) Questions (2 marks each)

— WORKSHEET

(1 mark each)

4. In the given figure, AODC ~AOBA, ZBOC =125° and £CDO =70°.

Find £ZDOC, £ZDCO and LOAB.

5. InAABC,ZA isobtuse angle, PB L PC and QC L. @B, then find the value of AB x AQ.
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. PQR is right angled triangle, having ZQ =90° If QS=SR, then show that_t_

1

PR =4P5% -3PQ*,

p
- . \.J
a 5 R
BE BC
i c DC|| AP. P that —="—,
. In the gwen‘l'igure. DE|[|AC and [l rove tha EC-Cp
A
D
o £ C P

. Inthe given figure £ZP = £T, PQ =6 cm, QR=15¢m, PR=12 cm and RT =4 cm, then

find the value of RS.
P
12 cm
Gcm
al S5
O 15cm
i
Q}"
4 T
In the given figure, PQ j| BC and PR || CD.
o
Q
A c |
R :
5 i
Prove that
o AR _AQ iy @ _RD. |
Al AB A AR :
I
Short Answer Type (II) Guestions (3 marks each) |
10. If two coconut trees 15 m and 25 m high are 70 m apart, then find the height of the |
peint of intersection of the line joining the tep of each tree to the foot of the opposite
tree, —— .
i A ~ - !




11. In the given figure, LABC = ZAL 1.

A B EZC
(i) Explain, why 8ABC and AAED are similar?
(ii) Given, AD =3 cm, AE=5cm and £C = 2cm. Caleulate BD.
12. In the given figure ZBAC =90° AD is its bisector. If DE L AC, then prove that
DE x{AB+ AC)= AB » AC. |
A '

8 % c
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Long Answer Type Questions {6 marks each)
13. Inthe given figure, AB =8 cm, BC = 3 cm and BE is parallel to CD.

(i) Find
(a) BE ® Area of AABE
CcD’ ) : .
Area of quadrilateral BCDE

(i) What is the special name given to the quadrilateral BCDE?

14. Inthe given figure, D, E and F are the points on sides BC, CA and AB, respectively,
such that AD bisects £A , BE bisects £B and CF bisects ZC. if AB =5 c¢m, BC=8cm
and CA=4 cm, then determine AF, CE and BD.
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Answers
1. @ 2. (0) 3. (b) 4. £DOC = ZDCO = ZOAB =55°  rFor Solution
5. ACx AP 8.5¢cm - 10. 92!

11. (i)BD =8 % cm

13. () (a) % ) % (ii) Trapezium

5 az :
14. AF:‘-CF“.CE:-— =i9
3 3 cm and 80 S cm



